BRI I P s B e PR B i R B RRAE TRAEY R R (B KD BER

— REFRITHEAR

L HAELRRG
BBl RIS N ORI B = HEAE DR 62 <5 < B0 X BERE B 1 98 30 X RUB T 38 RO AR 8 R
RIS 9 = X A RS RIS 27

2. BIERK4
BF— Wl ARBE N ARG B = R R0 4 4 A0 X AR E ik v 9l 230 > XU 18 3 R B X M AR R B
SMRES B = X A — PR AR B

—. BEEREX (A)

1. ESEFEMETRE: 0.016%
2. BRIESREMETRER: 0.08%
= RTRERE

1. {RE

PR HAE (D kT3
1K 0.34
2K 0. 36
3K 0. 39
4 K 0.41
5K 0.43
PN 0.45
(PN 0. 48
8 K 0. 50
9 K 0. 52
10 X 0.55
11K 0.57
12 X 0. 59
13 K 0.61
14 K 0. 64
15 K 0. 66
16 K 0. 68
17K 0. 70
18 K 0.73
19 k& 0.75
20 K 0.77
21 K 0. 80
22 K 0.82
23 K 0.84
24 K 0. 86




2.

3.

1.

25 R 0. 89
26 K 0.91
27 K 0.93
28 K 0.95
29 K 0.98
30 K 1.00
APRNEC BUER T B/ R85O
HAARNEL (D R R
(0, 200] 1.0
(200, 500] [0.9, 1.0)
(500, 1000] [0.8, 0.9)
(1000, 5000] [0.6, 0.8)
(5000, 10000] [0.3, 0.6)
>10000 0.3
200/ THIEAT R (& F T H AR/ Sk 45O
05/ PG4T 2 LS
(0, 20%] [0.5, 0.7]
(20%, 40%] (0.7, 1.1]
(40%, 60%] (1.1, 1.5]
>60% (1.5, 2.0]
M. AR RE
BARBSE N BT bR 80 e D0 23 il A8 A T 5
WAT RS R
BUK (0.5, 1.0]
BR (1.0, 2.0]
WAT (2.0, 3.0]
KT (3.0, 5.0]

FR ORI AR5 A5 DR 18: A BT 72 3037 2 T P08 7 i A 4T 9 B AT P I

2.

3.

WEORES N MO S G R el IR B i 8 1 XU

HEORES N T IR G 7 e s 75

I H SR RERA

e A (2.0, 5.0]

XS (1.0, 2.0]

R [0.5, 1.0]

LR R 40 B R I6: NI T BR Ll S % 3 28 e R 9 B i 28 mT e M AT 0 T o
% ORBS A EAR B

i R T LSy

i ORJSSr N\ Al R AR FE A e (0.5, 0.8]

B ORI N Ak FR AR FE — (0.8, 1.2]

5 R or N A AR A 22 (1.2, 2.0]

PRI AR 98 452 O [55r \ f R P I B A i BT 7R DR DA 1 AT B

2




PR TAT B -

1. F B RBC MNERR R

2. F B REOH RAG BAHE LA B, R L. 0.

3+ A RBOTCK NAUH BAE LR SRR N Y, MRS 3 3 3 R R VA R T
LU E »

Ay AR PR R DRI 9 28 A DA_E XU RRAE BRI, 8 4 TR 5 28 i) sl AN Sl e A
RIHETEH -



